EARAROBEEIERT — 2 N— IBISH —F

2015548278 (B) 2EI%#A3H

m Le<LfE B2 5% (xwlw | lmEmml - |5 5) wom 8
[A&4]1#%:165000 M ~ 2#%&:33,000MH ~ 3#&:17,000H / 4%:0M / 5&:0HM
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— s EHEKRE 128. —6-5- . — FILELE (1)
b7l 7| vv=rvarz it 4 = 1(2_8)8 6-6-5-4 | 37.0 1 (5&0) z#aﬂk A
L:TANVRSyYa Bvv=ro4—-)L EH B
= $5 # o4 | RINAR 1:29.0 2-2-2-2 | 38.3| — 2 473 | 1IU8BAZE (56H4)
] 4| B7I 0 A 56.0 (1'1/2) © | ® Fr-xtEvaz
LT H L TIVET Y kN BT LAY 4 XN~ =¥ T L
o= — AT : -3-3- — BREX (BHE)
slgle| TH47a517 it 5 Asztigéé 1.(239).6 3-3-3-3 |38.8 6 (4_423) Ldftd
LA N—3I TR—L B:FALT—FEET> =E &
= 4 5 | o 1:29.7 1-1-1-1 | 39.1| — 4 474 | NFREEER (%HR)
] 2| A1 Z4 b 54.0 (1/2) (+13) ) 2 FL7I55 K
LiPA L T 1= B:val—KRLFg ES-% e
> SN # o5 | AEHE 1:30.1 7-7-7-7 | 37.5| — 7 458 | BEEHIER (5H2)
5|5|5 A4 3T NI 56.0 ® o &) ;—Z;T’
LT AT7hoyh— BIXZARY v w77 — L
o, [1© . KIRET : 56— = BEBEE (5W)
B3| T =T G | TR B Sl |mEme
R:Y=24—3=X4— B:EYaX e
. o6 | WTHZ 1:30.6 4-4-4-5 | 39.1| — 9 441 | WPIER (5£H2)
ARIR R #53.0 ) Lo | &) At
L:xrinMO0— B:Xv>7147793 SHBE
<~ = C— s ESH : -8-8- — HOEZ (%14)
8 NSRS 6 . (11.310/.5 8-8-8-8 | 36.8 3 3070) goas A
LY LTAN—F BiNNL—b g 1E
= . 4 7 | TEARIE= 1:31.0 9-9-9-9 |36.6| — 5 447 | DNEEEMR (S54R)
olglg|7 PRI T -2 54.0 (1 1/2) () |PEEZ -
L:42v2v3Y B:vLTYXex TS
® I—F—@EBIERL
13—7F— 2,4,9,1,3,7,5,6,8
Ao=5"= 2,4,9,1,3,7,5,6,8
3T—7— 2,4,9,1,7,3,5,6,8
41—F— 2,4,9,7,1,3,5,6,8
[ N5
B 7 1009 794K 4-7 150M & 4-7 310 &R 4-7-9 460M
# B 7 1004 7-9 300 B E 4-7 190M EE 7-4-9 940M
4 1004 4-9 480M B H 7-4 200M
9 370M

ABICOVWTRDTEEERROODE. TR LIV,




